7/16/2025 11:34 Page 1

NODE=B150
_|_
/\C(2765) 1JPy = 2(?7)  Status: %
or X.(2765)
OMITTED FROM SUMMARY TABLE
A broad, statistically significant peak (997f%‘2‘91) events) seen in NODE—=B150
/\jﬂ"' 7~ . However, nothing at all is known about its quantum
numbers, including whether it is a /\'Ci_ or a X, or whether the
width might be due to overlapping states.
A:(2765)* MASS NODE=B150M
The mass is obtained from the /\C(2765)+ - /\2_ mass-difference mea- NODE=B150M
surement below.
VALUE (MeV) DOCUMENT ID NODE=B150M
2766.61+2.4 OUR FIT
Ac(2765)* — AT MASS DIFFERENCE NODE—B150D
VALUE (MeV) EVTS DOCUMENT ID TECN  COMMENT NODE=B150D
480.1+2.4 OUR FIT
480.1+2.4 997132 ARTUSO 01 CLE2 ete =~ T(4S)
Ac(2765) WIDTH NODE=B150W
VALUE (MeV) DOCUMENT ID TECN  COMMENT NODE=B150W
50 ARTUSO 01 CLE2 ete = 7(4S)
Ac(2765) DECAY MODES NODE=B150220;NODE=B150
Mode Fraction (I';/T)
o Afatr seen DESIG=1;0UR EST
Ac(2765)+ REFERENCES NODE—B150
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